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Problem 1. (10 POINTS)
Which of the three programs A, B, C prints the integers -3, -2, -1, one integer per line? Name all that apply or
write NONE if you believe none of A,B,C is up to this task!

% Code A % Code B % Code C ALL THREE
for ii= 1:3 for ii= -3:1:-1 for ii= [30 20 10] A,B,C
disp(-4+ii); disp(ii); fprintf (’ %1d\n’,-ii/10);

end end end

Problem 2. (10 POINTS)
What does the following MATLAB program print?

A= [ 17 13 5 15 14 16 ]; %
n= length(A); %
for k = 1:n %
switch mod(A(k),7) %
case 0 %
fprintf(’and ’); %
case 1 %
fprintf (*you ’); %
case 2 %
fprintf(’me?’); %
case 3 %
fprintf (’three ’); %
case 4 %
fprintf(’two’); %
case 5 %
fprintf(°\n’); %
otherwise %
fprintf (’more weeks’); )
end %
end %
111 % First line
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Problem 3. (20 POINTS)
What does the following program print?

val =0 ;
for ii=1:2:10 % WHAT is the value of val that is getting printed?
if ii>56
val = val + 5 ;
else
val = val - ii;
end
end

disp(val); %  Output for disp(val) is 1



